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5sin 0—2cos 0
If cot® =2, find the value Of in 0+2cos 0’
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If tan9? = 2 find the value of sec”81)
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If = 1; find sin®0 + 2sin®0 + sin*0.

T2 cosO + cosZ?0 = 1:M sin®0 + 2sin®O + sin*0 7T
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If secO — tan0O = 3; find cosO + sin0.
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If 5sin0 + 1,2cosB = 13 find the value of 5cosecO +
125ec/0n97 6=\ A= >
Jf2'55in0 + 12¢0s0 =(137 4T 5cosecO + 12secO T A ATA
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If (a2 — bz)gmefi—%abcose = a% + b?; fin




£90° < 0 < 180° and(4¢0s20 — 3cose 3 = 0 ﬁnd
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If,sinBsec?0 = E, the value of
/anze + c03203
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2 — c0s%0 = 3sinOcos0O; 0°< 0<90°; find cot?0.
2 — c0s%0 = 3sinBcosh; 0°< 0<90°; cot20 T hHIfTT,
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If O is an acute angle and cos?0 + cos*0 ﬁi en find the
value of tan?0 + tan*0.
afg O Teh =T 10T § 3R cos20 + cos*O = 1;aT tan?0 +
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